B VCE & PDF https://lwww.geekcert.com/a2090-610.html
' 2024 Latest geekcert A2090-610 PDF and VCE dumps Download
: GeekCert.com

A2090-610%8As

Assessment; DB2 10.1 Fundamentals - Assessment

Pass IBM A2090-610 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/a2090-610.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

A2090-610 Practice Test | A2090-610 Study Guide | A2090-610 Exam Questions 1/3


https://www.geekcert.com/a2090-610.html
https://www.geekcert.com/a2090-610.html
https://www.geekcert.com/a2090-610.html

VCE & PDF https://lwww.geekcert.com/a2090-610.html|
2024 Latest geekcert A2090-610 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

When a COMMIT statement is executed, what happens?

A. All locks held on the database are automatically released.

B. Data stored in global temporary tables is automatically deleted.

C. Open cursors defined WITH HOLD are closed, but their data is retained.

D. The current transaction is terminated and a new transaction boundary is started.

Correct Answer: D

QUESTION 2

By default, where is the data stored for a column defined with an XML data type?
A. In an XML index.

B. In line with the rest of the data for the table.

C. In an XML storage object that is separate from the table.

D. In line with the rest of the data for the table, for XML columns less than 32KB.

Correct Answer: C

QUESTION 3

User USER1 wants to define a required relationship between two tables named TAB1 and TAB2 in such a way that
whenever a record is deleted from table TAB1, any related records are deleted from table TAB2. What must user

USERL1 do to accomplish this?

A. 1) Create a primary key on table TAB1;2) Create a foreign key on table TAB2 that references the primary key on

table TAB1 and adheres to the ON DELETE CASCADE rule.

B. 1) Create a primary key on table TAB2;2) Create a foreign key on table TAB1 that references the primary key on

table TAB2 and adheres to the ON DELETE CASCADE rule.

C. 1) Create a primary key on table TAB1;2) Create a foreign key on table TAB2 that references the primary key on

table TAB1 and adheres to the ON DELETE RESTRICT rule.

D. 1) Create a primary key on table TAB2;2) Create a foreign key on table TAB1 that references the primary key on

table TAB2 and adheres to the ON DELETE RESTRICT rule.

Correct Answer: A

QUESTION 4
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Which SQL statement will give user USERL the ability to assign a comment to a sequence named MYSEQ?
A. GRANT ALTER ON SEQUENCE myseq TO userl

B. GRANT USAGE ON SEQUENCE myseq TO userl

C. GRANT SELECT ON SEQUENCE myseq TO userl

D. GRANT COMMENT ON SEQUENCE myseq TO userl

Correct Answer: A

QUESTION 5

Which type of table is best suited for recording results from application data manipulation that is not required to be
persistent?

A. Base Table

B. Temporal Table
C. Transition Table
D. Temporary Table

Correct Answer: D
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